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B.A. 1* year
Examination — June 2019

Indian Economics

. Q‘I’ime: Three Hours
N\ Maximum Marks :40

Note: 1) Atten@ questions. (Ques.no.1 is Compulsory)

(@S @)

Q.1 e the correct answer (F8) faseu i) (1x5 =5)
1. n Economy is -
) Developing (b) Mixed (c) Federal (d) All of about
e\ AR sreferaRe 87

Q (1) wmfereiie @) fAfa GIREIR (@) I UbR @l
(bo 2. First census in India was done in-

AQ () 1872 (b)1891  (c)1901  (d) 1921
A\S)

YRA ¥ UIH IR SIETOET B 6he gl o
(b (31) 1872

\Q @) 1991 (9) 1901 () 1921
O

$ . 3. Because of green revolution there is maximum increase in

$ Production of -
(a) Wheat (b) Rice (c) Maize (d) Jwar
$ AR F BRT FIT W I AF ST I97 B |
(@) T @) =mae GIREED (8) SR

4. In which industry license are necessary
(@) Cigarette (b) Medicine
(c) Industrial Explosion (d) All the above
g ST § g9 o1 If+ard B |
@) RrRe (d) oWl (@) eEnfie favpie (]) SWiad a4l
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5. Planning in India was started in

(@) 1950 (b) 1951 (c) 1952 (d) 1955

R B9 YIRH BTl

(@1) 1950 (&) 1951 (|) 1952 () 1955
(@us—a)

Short answer type question (FgS<RII u%) (5x3 =15)

Q.1 State five characteristics of Indian economy
IR Sreferarer @ uia v favvamd qargy |
or

Write a short note on water resource in India.
YRA ¥ Ol A9 W fewofy forlRey |

Q.2 Explain the rural urban classification.
IO TTRRoT B TSI |
Or
What is mechanization in agriculture?
HY TAHIT FT 77
Q.3 What is the meaning of startup?
TSI | a1 AT 2°

(4
QO
Or \Q
What is the meaning of public sector? ‘Qrb
Q

AT &5 W T AU 2?
Q.4 Define balance of payment. $ .

YIAH e BT aRaId SHIT |
Or
Explain in short the importance of air trans&rt.
a1y URared & Hed Bl Ged H T R |

Q.5 Explain the importance of economic palming.
afefe o @ AR @ AR BT |

Or
What are the factors responsible for the generation of black
Money in India?
IRA § BTl &9 T S & FIT BRUT 87
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(3)

(@vs—)
Long answer type question (SR ue)

Q.1Describe the feature of population in India.
RA § STt el faersdnetl o1 aofF SIw |

Or

What are the reasons of urbanization in India?
WRA § IEHNUT BT HNRT & |

Q.2 Explain main charatteristics of Indian agriculture.
N fY W@ RRIaTel o7 Seore B |

Disc s@(e effect of green revolution on Indian agriculture.
N@ﬁ R gRA B & ATl B Seorkd BT |

Q ite short note on new Industrial policy 1991.

(5x5 = 25)

airenfire ifa 1991 R fewoft farRa |
Or
Describe critically new industrial policy of India.
TRT B A3 el Afd B smei=qras fademT SR |
Q.4 Whar are the reasons of disequilibrium in balance of payment in
India.
AR H YA g § I B & FI1 PRI ¢ |
Or
Discuss the role of Multi-national corporation in India.
AR 3fferawel # JgRrse i Al @ fHaT @ faaee SIS |
Q.5 Describe the objective of NITI AAYOG.
AT MEART & ST D fIITAT DI |
Or
Explain the steps taken by government to reduce unemployment
in India
ARA H RSN HF B & ol IRGR gRT T T YI4! &1 e
DI |
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